Academic Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students	
44070400 . O												
11070100 - Computer Scien							_				_	
Non-returner	2	33.3%	0	0.0%	2	33.3%	4	66.7%	2	33.3%	6	
Total	2	33.3%	0	0.0%	2	33.3%	4	66.7%	2	33.3%	6	
14010100 - Engineering, General												
Non-returner	0	0.0%	2	100.0%	0	0.0%	2	100.0%	0	0.0%	2	
Total	0	0.0%	2	100.0%	0	0.0%	2	100.0%	0	0.0%	2	
24010100 - Liberal Arts and	d Sciences	/Liberal \$	Studies									
Non-returner	9	15.3%	21	35.6%	22	37.3%	52	88.1%	7	11.9%	59	
Total	9	15.3%	21	35.6%	22	37.3%	52	88.1%	7	11.9%	59	
26010100 - Biology/Biologi	cal Scienc	es. Gene	ral									
Non-returner	8	14.3%	21	37.5%	18	32.1%	47	83.9%	9	16.1%	56	
Total	8	14.3%	21	37.5%	18	32.1%	47	83.9%	9	16.1%	56	
Total	0	14.5 /0	21	37.370	10	JZ. 1 /0	47	03.970	9	10.170	50	
99999999 - Undeclared Maj	jor											
Undeclared	6	17.1%	10	28.6%	7	20.0%	23	65.7%	12	34.3%	35	
Total	6	17.1%	10	28.6%	7	20.0%	23	65.7%	12	34.3%	35	

Technical Students	Additional Employed Higher No Education Additional and Not Higher Employed Education		onal ner	Higl Educa an	Additional Employed Higher and/or Education Additional and Higher Employed Education		/or ional her	Students Not Found		Total Former Students		
04090100 - Architectural Technology/Technician												
Non-returner	0	0.0%	3	27.3%	7	63.6%	10	90.9%	1	9.1%	11	
Total	0	0.0%	3	27.3%	7	63.6%	10	90.9%	1	9.1%	11	
11020100 - Computer Prog	gramming/F	_	er, Genera	al								
Non-returner	4	14.8%	12	44.4%	9	33.3%	25	92.6%	2	7.4%	27	
Total	4	14.8%	12	44.4%	9	33.3%	25	92.6%	2	7.4%	27	
11100200 - System, Netwo	rking, and	LAN/WAN	l Managen	nent/Mana	ager							
Graduate	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1	
Non-returner	1	14.3%	3	42.9%	1	14.3%	5	71.4%	2	28.6%	7	
Total	1	12.5%	4	50.0%	1	12.5%	6	75.0%	2	25.0%	8	
11100300 - Computer and	Informatio	n Systems	Security/	/Auditing/	Informatio	n Assura	nce					
Non-returner	1	10.0%	3	30.0%	5	50.0%	9	90.0%	1	10.0%	10	
Total	1	10.0%	3	30.0%	5	50.0%	9	90.0%	1	10.0%	10	
12050300 - Culinary Arts/0	Chef Trainir	ng										
Non-returner	7	20.6%	17	50.0%	8	23.5%	32	94.1%	2	5.9%	34	
Total	7	20.6%	17	50.0%	8	23.5%	32	94.1%	2	5.9%	34	
13150100 - Teacher Assist	tant/Aide											
Non-returner	12	40.0%	5	16.7%	10	33.3%	27	90.0%	3	10.0%	30	
Total	12	40.0%	5	16.7%	10	33.3%	27	90.0%	3	10.0%	30	
15040100 - Biomedical Tec	chnology/T	echnician	l									
Non-returner	5	17.2%	4	13.8%	15	51.7%	24	82.8%	5	17.2%	29	
Total	5	17.2%	4	13.8%	15	51.7%	24	82.8%	5	17.2%	29	
15040300 - Electromechan	nical/Electro	omechani	cal Engine	eering Ted	hnology/1	echnicia	1					
Non-returner	5	26.3%	8	42.1%	5	26.3%	18	94.7%	1	5.3%	19	
Total	5	26.3%	8	42.1%	5	26.3%	18	94.7%	1	5.3%	19	
15040400 - Instrumentatio	n Technolo	gy/Techn	ician									
Non-returner	1	50.0%	0	0.0%	1	50.0%	2	100.0%	0	0.0%	2	
Total	1	50.0%	0	0.0%	1	50.0%	2	100.0%	0	0.0%	2	
15040500 - Robotics Tech	nology/Tec	hnician										
Non-returner	0	0.0%	4	50.0%	4	50.0%	8	100.0%	0	0.0%	8	
Total	0	0.0%	4	50.0%	4	50.0%	8	100.0%	0	0.0%	8	
15040600 - Automation En	gineer Tec	hnology/T	Technician	1								
Graduate	0	0.0%	12	85.7%	0	0.0%	12	85.7%	2	14.3%	14	
Non-returner	0	0.0%	5	55.6%	1	11.1%	6	66.7%	3	33.3%	9	
Total	0	0.0%	17	73.9%	1	4.3%	18	78.3%	5	21.7%	23	

Technical Students	Additi High Educa and I Emplo	ner Ition Not	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students	
15050100 - Heating, Ventilation , Air Conditioning and Refrigeration Technology/Technician												
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1	
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1	
15050700 - Environmental	/Environme	ental Eng	ineering T	echnology	y/Technici	an						
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1	
Total	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1	
15061200 - Industrial Technology/Technician												
Non-returner	4	28.6%	3	21.4%	6	42.9%	13	92.9%	1	7.1%	14	
Total	4	28.6%	3	21.4%	6	42.9%	13	92.9%	1	7.1%	14	
15061300 - Manufacturing	Engineerin	ng Techno	ology/Tech	nician								
Graduate	0	0.0%	9	75.0%	2	16.7%	11	91.7%	1	8.3%	12	
Non-returner	2	7.1%	12	42.9%	6	21.4%	20	71.4%	8	28.6%	28	
Total	2	5.0%	21	52.5%	8	20.0%	31	77.5%	9	22.5%	40	
15070100 - Occupational S	Safety and		chnology/		n							
Non-returner	1	25.0%	1	25.0%	2	50.0%	4	100.0%	0	0.0%	4	
Total	1	25.0%	1	25.0%	2	50.0%	4	100.0%	0	0.0%	4	
15100100 - Construction E	ngineering		ogy/Techr	ician								
Non-returner	1	11.1%	2	22.2%	4	44.4%	7	77.8%	2	22.2%	9	
Total	1	11.1%	2	22.2%	4	44.4%	7	77.8%	2	22.2%	9	
15130300 - Architectural D	rafting and	l Archited	tural CAD	/CADD								
Non-returner	4	33.3%	6	50.0%	2	16.7%	12	100.0%	0	0.0%	12	
Total	4	33.3%	6	50.0%	2	16.7%	12	100.0%	0	0.0%	12	
15130600 - Mechanical Dra	afting and I	Mechanic	al Drafting	CAD/CAI	סכ							
Non-returner	1	20.0%	1	20.0%	2	40.0%	4	80.0%	1	20.0%	5	
Total	1	20.0%	1	20.0%	2	40.0%	4	80.0%	1	20.0%	5	
15170300 - Solar Energy T	echnology	/Technici	an									
Non-returner	1	25.0%	3	75.0%	0	0.0%	4	100.0%	0	0.0%	4	
Total	1	25.0%	3	75.0%	0	0.0%	4	100.0%	0	0.0%	4	
41030300 - Chemical Proc	ess Techno	ology										
Graduate	0	0.0%	22	88.0%	0	0.0%	22	88.0%	3	12.0%	25	
Non-returner	2	4.8%	23	54.8%	8	19.0%	33	78.6%	9	21.4%	42	
Total	2	3.0%	45	67.2%	8	11.9%	55	82.1%	12	17.9%	67	
46030100 - Electrical and I	Power Tran	smission	Installatio	on/Installe	r, General							
Non-returner	15	23.1%	25	38.5%	21	32.3%	61	93.8%	4	6.2%	65	
Total	15	23.1%	25	38.5%	21	32.3%	61	93.8%	4	6.2%	65	

Technical Students	Additi High Educa and I Emplo	er tion Not	r No on Additional ot Higher		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
46030200 - Electrician											
Non-returner	0	0.0%	2	100.0%	0	0.0%	2	100.0%	0	0.0%	2
Total	0	0.0%	2	100.0%	0	0.0%	2	100.0%	0	0.0%	2
46030300 - Lineworker											
Graduate	7	5.8%	65	53.7%	13	10.7%	85	70.2%	36	29.8%	121
Non-returner	4	4.5%	52	59.1%	8	9.1%	64	72.7%	24	27.3%	88
Total	11	5.3%	117	56.0%	21	10.0%	149	71.3%	60	28.7%	209
46050300 - Plumbing Tech	nology/Plu	mber									
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
47060300 - Autobody/Colli	ision and R		:hnology/	Гесhniciar	1						
Non-returner	2	33.3%	3	50.0%	1	16.7%	6	100.0%	0	0.0%	6
Total	2	33.3%	3	50.0%	1	16.7%	6	100.0%	0	0.0%	6
47060400 - Automobile/Au	tomotive N	lechanics	Technolo	ogy/Techn	ician						
Non-returner	5	5.7%	25	28.4%	47	53.4%	77	87.5%	11	12.5%	88
Total	5	5.7%	25	28.4%	47	53.4%	77	87.5%	11	12.5%	88
47060500 - Diesel Mechan	ics Techno	logy/Tecl	nnician								
Graduate	1	5.9%	12	70.6%	1	5.9%	14	82.4%	3	17.6%	17
Non-returner	4	7.7%	27	51.9%	14	26.9%	45	86.5%	7	13.5%	52
Total	5	7.2%	39	56.5%	15	21.7%	59	85.5%	10	14.5%	69
47060700 - Airframe Mech	anics and A	Aircraft M	aintenand	e Technol	ogy/Techr	ician					
Non-returner	1	20.0%	0	0.0%	2	40.0%	3	60.0%	2	40.0%	5
Total	1	20.0%	0	0.0%	2	40.0%	3	60.0%	2	40.0%	5
47060800 - Aircraft Power	plant Techr	ology/Te	chnician								
Non-returner	1	33.3%	0	0.0%	2	66.7%	3	100.0%	0	0.0%	3
Total	1	33.3%	0	0.0%	2	66.7%	3	100.0%	0	0.0%	3
47060900 - Avionics Maint	enance Ted	hnology	/Technicia	an							
Non-returner	1	25.0%	1	25.0%	2	50.0%	4	100.0%	0	0.0%	4
Total	1	25.0%	1	25.0%	2	50.0%	4	100.0%	0	0.0%	4
48050100 - Machine Tool 1	Гесhnology	/Machinis	st								
Graduate	0	0.0%	5	83.3%	0	0.0%	5	83.3%	1	16.7%	6
Non-returner	2	4.7%	19	44.2%	15	34.9%	36	83.7%	7	16.3%	43
Total	2	4.1%	24	49.0%	15	30.6%	41	83.7%	8	16.3%	49
48050800 - Welding Techn	ology/Weld	ler									
Graduate	1	5.3%	15	78.9%	1	5.3%	17	89.5%	2	10.5%	19
Non-returner	10	10.0%	44	44.0%	27	27.0%	81	81.0%	19	19.0%	100
Total	11	9.2%	59	49.6%	28	23.5%	98	82.4%	21	17.6%	119

Technical Students	Additional Employed Higher No Education Additional and Not Higher Employed Education		Additional Higher Education and Employed	Employed and/or Additional Higher Education	Students Not Found	Total Former Students						
49010200 - Airline/Commercial/Professional Pilot and Flight Crew												
Non-returner	2 100.0%	_		2 100.0%	0 0.0%	2						
Total	2 100.0%	6 0 0.0%	0 0.0%	2 100.0%	0 0.0%	2						
50040100 - Design and Vis	sual Communication	ons, General										
Non-returner	1 25.0%			3 75.0%	1 25.0%	4						
Total	1 25.0%	ú 1 25.0%	1 25.0%	3 75.0%	1 25.0%	4						
50040900 - Graphic Design	n											
Non-returner	2 28.6%			6 85.7%	1 14.3%	7						
Total	2 28.6%	3 42.9%	1 14.3%	6 85.7%	1 14.3%	7						
51060200 - Dental Hygiene	e/Hygienist											
Non-returner	2 33.3%			5 83.3%	1 16.7%	6						
Total	2 33.3%	6 0 0.0%	3 50.0%	5 83.3%	1 16.7%	6						
51070700 - Health Informa	tion/Medical Reco	rds Technology/Tec	hnician									
Non-returner	0 0.0%			5 100.0%	0 0.0%	5						
Total	0 0.0%	6 3 60.0%	2 40.0%	5 100.0%	0 0.0%	5						
51090400 - Emergency Me	dical Technology/	Technician (EMT Pa	ramedic)									
Non-returner	1 50.0%			2 100.0%	0 0.0%	2						
Total	1 50.0%	G 0.0%	1 50.0%	2 100.0%	0 0.0%	2						
51090900 - Surgical Techn	nology/Technologi	st										
Non-returner	1 12.5%			7 87.5%	1 12.5%	8						
Total	1 12.5%	3 37.5%	3 37.5%	7 87.5%	1 12.5%	8						
51150100 - Substance Abu	use/Addiction Cou	nseling										
Non-returner	1 16.7%	4 66.7%	1 16.7%	6 100.0%	0 0.0%	6						
Total	1 16.7%	6 4 66.7%	1 16.7%	6 100.0%	0 0.0%	6						
51380100 - Registered Nui	rsing/Registered N	urse										
Non-returner	1 14.3%	1 14.3%	4 57.1%	6 85.7%	1 14.3%	7						
Total	1 14.3%	ú 1 14.3%	4 57.1%	6 85.7%	1 14.3%	7						
51390100 - Licensed Pract	tical/Vocational Nu	rse Training										
Non-returner	4 30.8%	4 30.8%	5 38.5%	13 100.0%	0 0.0%	13						
Total	4 30.8%	4 30.8%	5 38.5%	13 100.0%	0 0.0%	13						
52020400 - Office Manage	ment and Supervis	ion										
Graduate	0 0.0%	6 2 50.0%	1 25.0%	3 75.0%	1 25.0%	4						
Non-returner	2 14.3%	5 35.7%	2 14.3%	9 64.3%	5 35.7%	14						
Total	2 11.1%	7 38.9%	3 16.7%	12 66.7%	6 33.3%	18						

Summary Page	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
Total Academic Students											
Non-returner	19	15.4%	44	35.8%	42	34.1%	105	85.4%	18	14.6%	123
Undeclared	6	17.1%	10	28.6%	7	20.0%	23	65.7%	12	34.3%	35
Total	25	15.8%	54	34.2%	49	31.0%	128	81.0%	30	19.0%	158
Total Technical Students											
Graduate	9	4.1%	143	65.3%	18	8.2%	170	77.6%	49	22.4%	219
Non-returner	114	13.6%	339	40.5%	259	30.9%	712	85.1%	125	14.9%	837
Total	123	11.6%	482	45.6%	277	26.2%	882	83.5%	174	16.5%	1,056
Total Technical/Tech-Prep	Students										
Graduate	9	4.1%	143	65.3%	18	8.2%	170	77.6%	49	22.4%	219
Non-returner	114	13.6%	339	40.5%	259	30.9%	712	85.1%	125	14.9%	837
Total	123	11.6%	482	45.6%	277	26.2%	882	83.5%	174	16.5%	1,056
Grand Total											
Graduate	9	4.1%	143	65.3%	18	8.2%	170	77.6%	49	22.4%	219
Non-returner	133	13.9%	383	39.9%	301	31.4%	817	85.1%	143	14.9%	960
Undeclared	6	17.1%	10	28.6%	7	20.0%	23	65.7%	12	34.3%	35
Total	148	12.2%	536	44.2%	326	26.9%	1,010	83.2%	204	16.8%	1,214